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© (Section-A)

I WERH WoRE % o1 § T T S &R 1

What will be the rate of interest on loan in absence of partnership deed.

2, H@ﬁﬁtﬁﬁ#mﬂwﬁw@ 1

What is meant by reconstruction of Partnership?
3. MR Py g A S e S a1 (P g ) 1

What problems do. arises on retirement or death of a partners? (Write

0 points only) ' ' '
‘/gﬁwﬁm@ﬁmﬁmmmwﬁ 1

How does calls in Arrear show in the Balance sheet?

A, BHCETHﬁﬁ'H@ETmGﬁ2343§3ﬁWﬁW*TﬁIWm%!C
/wmm%wﬁmﬁmwusmomﬁmmﬂé@

Wﬁwﬁmnwoomﬁ@mw%lw%mmm

wiafdal Hifs L 1

A, B & C are partners in a firm shormg profit in the ratio of 2:3:4. C

retires and the goodwill of the firm is valued at ¥ 45,000 Goodwill

appear in the books.at ¥ 27,000. Pass necessary journal entries for
treatment of goodwﬂl

6. dfea s @ = ST &2 1
What is meant by reserve capital?

T TR H g mg&&ar@aﬁ%ﬁraﬁh BT U TR TR TR E? |

When separate books of Joint venture is kept which type of accounts
are opened? Give names.

/ﬁ%mmﬁaﬁrﬁwmﬁr?ssmaﬁ?ﬂ m@ww
9,000 H o fora st wiafai =5y | 1
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" Ondissolution of a firm there was an unrecorded asset of 2 8,800 wh; h
was taken over by a partner at ¥ 9,000, Pass Journal Entry. ¢

9 qﬁ?#mﬁnaﬂmaﬂmmmﬂmmﬁ@maﬁmﬁ
> T T ) T i E? .
While calculating value of remaining goods with consignee, which
expenses paid by agent are not added.

10, TS WY ew § g =R or fafed | 2

Write down any four differences between consignment and Joint
Venture?

11, W 3 T R AT T 50,000 $5f X 1,50,000 T T T Z 10,000

ﬂlﬁmwﬁfﬁfﬁ?l,mﬁmaﬂg@ﬁ@aﬂzﬁﬁﬁﬁwmﬁﬁ

< T O Y 2

On dissobution of a firm creditor were T 50,000 capital was T 1,50,000
and cash balance was ¥ 10,000. Z 1,30,000 realised from sundry assets

calculate the amount of sundry assists and loss an realisation.

W%?é,mmo sitsieh e 1 At v foan | st 3 5ed @ snen e
| <3,25,000 § T 319 A1 T 40,000 & 39 faz | 9% 5 e wr FHeE

F 20 Wi srfueel Fier W w0 @ i €1 e g st
FHE W AW MR 2
Amit consigned goods of ¥ 6,00,000 at Invoice price. Consignee sold
half of goods at ¥ 3,25,000 and remaining goods for ¥ 40.00Q. He is
entitled 5% general commission and 20% overriding commission.
Calculate the amount of general and over riding commission.

13, SEEERRF ST TeU FA R A JPIar H1 TR 5 B @ wdg

TR aifufram 1932 #t €RT 37 & TR 36 AfUsR sagy? 2
When final payment of retiring partner is out settled at the time of
retirement. Write rights of partner U/S 37 of Indian Partnership Act.1932?

14,589 T, ¥ T 4,00,000 T 99T 991 T 2,60,000 1 G9F R | @O FT

¢ T H A < 100 et 6 o orsi @ 10 wiowra frfirm w e
T w1 | srervaes e wfafd fef) . 4
Tarun limited purchased building for ¥ 4,00,000 and plant for I
2,60,000 form Hari. The purchases price was paid by Issuing

6%.Debenture of T 100, each at a premium of 10% give necessary journal
entries. ' |

15. <, v frir o e 8 e 131 7 2019 ) ek v g P
THR &— -

March 2019 of the firm is as follows :
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Ravi, Sunil and Trilok are partners in a firm. Balance sheet as on 31

WO dUIU0asqI mmm//:dyy



WO JUI[UOASqE mmm//:dny

) http://www.rbseonline.com

(3)
Balance Sheet on 31st March 2019
___ Liabilities Amount Assets m
Capital : Ravi 20,000{Sundry Assets "050‘66
" Sunil 20,000|Capital Trilok 55‘66-
Creditors 63,000 I
1,03,000 l?m

31 74 2019 F1 Freire fearfern @ T 9o % & T R oy,

it Q o ot et 7 8 T 1 B aht e 8 240,000 T 5y
mﬁﬁmm@ﬁmwmmﬁwaﬁmw@ﬁm

R T T R B

The firm is dissolved on 31 March 2019, due to Tirlok became insolvent,

None 1s

realised form Trilok T 40.000 realised from The assets of the

fitm. Prepare necessary accounts on dissolution, where Garner vs, Murry
alization is not brought in cash by partners. -

16. e e 3 anfei fag A fFrefataa 7e i 39 o6 vk 7 suvifal %
sraka feariniy - http//www rbseonline.com 4
Under which head and subhead will you show the following items in
the balance sheet of a.company? ' '
(i) 7T T (Calls in Arrear)
(ii) ST A (Outstanding Salary).
(i) 310M & (Advance Tax)
(iv) ST SN (Unclaimed Dividend)
(vj @?ﬁﬁﬁmcceptances)
(vi) &fad @id (Purposed Dividend)

(vii) FHHAI FT A (Provision for employee berefit)
(viii) IS T MR {58 (Brand and trade mark) o
17, i e @R % ST @ graivd T-52 % wEE sEd | 4

State the provisione in section-52 for the utilization'of Security Premium

rule applies loss on re

Account,

“* While preparing income_and expenditure account and Balance sheet,

-M—mmaﬁgmmﬁwﬁﬁﬂﬁﬁﬁ?ﬁ@maﬁm— -

where the following items will be shows :

(i) HEd QWi (Legacies)

(iii) ==T (Subscription)

(iv) 3T TR Y (Life time Membership fecs)

1218

4

(if) mg&—m’ (Entrance fee)

FI3.

http://www.rbseonline.com

WO QUI[U0ASqI MmMm //:d)y



WO JUI[UOISqE mmm//:dny

http://www.rbseonline.com
(4)

j9. a1 sl a1 39 2018 aﬁ?sooooo W?BOOOO{}'@

grey fiFar | 81 F SR | Iosrﬁi?mrﬁﬁﬁaﬁazﬁy fegeay “'Vt

/ . 20j
Wﬁﬁﬁwmﬁmﬁﬁql E“
() qﬁamq@%wﬁ;ﬁnnoomm%. g
(2) 3R 3T T A 3 | T 2000 SR FT 2
A and B started business on 1% April 2018 with capital of ¥ 5 0
and 3,00, 000 respectively. Calculate the interest on drawingg ¢ A
10% p.a. for the year ending 315t December 2018 in each of the follows, ing

attentive cases:
(1) IfA draws 2,000 p.m. in the beginning of every momh

(2) If A withdraw ¥ 2.000 p. m. at the end of each month.
¥ A Y st F RV 1 T 2019 FI T 30,000 Fi Ay
A1 9T TR T S 3 1y 7 oAt & T 900 T | TR A 3 e
wHren et Sf T ey 10 o e @0 @ T | S 3 P ag
% T 250 791 e i T 200 T 1 20 T 2019 T IV F gy
< & T 2500 T8 B¢ 1590t 3 31 St 2019 T iR e 3 9 g
T R0 W 37 2/3 9T 2 35,000 % e e e e T 3 @ of
3 500 9 o2 1 vl ) et g W8 uﬁmﬁwﬁ@mﬁﬂvﬁﬁq
TleT oreer & et 9 ) .
Teaw =t gwret & J9or e v s A E 4
Hitesh of Bangalor consigned goods to Mahesh of Ajmer. On 1% January
2019 for X 30,000 at cost price. Consignor paid for carriage and insurance
< 900. Due to heavy sain fall 10% goods was damaged. Consignee paid
clearing charges ¥ 250 and godown rent T 200 on 20™ Feb. 2019 -
consigner received T 2500 from Insurance Company. Consigner sent
Account sale show that 2/3 of the remaining goods sold in cash for ¥

135000 and received ¥°500 from damaged goods, Consignee sent
remaining amount with bearer. Consignee will receive 8% commission

on total sales.
Prepare in the books of Hitesh, conSIgnment Account and Abnormal .

Loss Account.
2/?11‘3?@:: ﬁaw#maﬂma@ﬁa@am E@U@(%mﬂﬂaﬁ
% fore 9% wes § T F0 31 e R 5N | ] S 2019 F EE

T S @ Gl 399 BA: z‘soooooa?mooooammr -

I B ST 5:3 91

?ﬂﬁ?ﬁoooooﬁwm@gm@ﬂa qagg??esooq{;:
1 W 90,000 =4 1§ 40

Wf*mlﬁ'ﬂqlﬁﬁ'ﬁﬂ
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TR 1 25 @V R T 35000 W1 EETS I AT 7 A
31000 3t Y@vE ¥ 2 far 1 g e 4000 ST o
99 TR @R ) e e R R € 22000 SR EE P
HIE TIew Ht W 3 v @ dqn a1
Mahesh and Suresh of Jaipur entered in a Joint Ven
development scheme. They opened a Bank Account in t1¢ tively
by depositing I 5,00,000 and ¥ 3,00,000 on 1 Jan 19 respee .
They decided to share a profit and loss in the ratio 5:3- . 1 for its
A part of land purchased for T 60.000%nd Z 65,000 was paid
registration charges, ¥ 90,000 were paid for the expenses of €V
of land. The land was divided into 40 plots. ts at
The plots were sold as under : 25 plots at Rs 35,000 each: 7 plo Jots
%31,000 each, Brokerage were paid ¥ 40,006. The remaining P
were taken at a price T 22,000 by both equally.
.Prepare necessary accounts in the books of Joint venture. 4
j}xﬂﬁ?ﬁZ:l o @y died 8131 7 2019 mﬁyﬁﬂm%ﬂ

" A and B are sharing profit in the ratio of 2:1The Balance sheet as O

s@ﬂﬂfaﬂt

315t March 2019 is as follows :
I Balance Sheet on 31st March Zﬂﬁ_———_———_———
| Liabilities Amount Assets @
[Capital : A 21.000|Cash at Bank___| 10,000
B 40,000 |Debtors 30,000,
|General Reserve 9,000/Stock 20,000
[Creditors 30,000[Building 30,000
r | Patents . . 10,000
e 11,00,000] 1,00,000

| iaﬁﬁzowaﬁ?ﬁ.?ﬁmﬁmﬁwwnwwnﬁ@
aﬁqmm:l@mrﬁmm@ﬁ%mﬁmﬁm%ﬁ%aﬁmﬁﬁ
T Al ‘ -
(1) < wif 3 f 7 10000 7T A€ |

2) e =1 e T 35000 STH] T o
(SJ'WﬁWWW?QUOO%Wﬁﬁm@%m;@

gt | fere g
(4) wHEE W A AT T

. ¢ a o o o w5 @ g | :
e @, ot G 9 w 15t April 2019. New profit sharing

'i‘hey admitted C in to parrnershiplon
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ratio will be 3:2:1 C. Brings in proportionate ¢
- adjustments:
(1) Cbrings 10 < 10,000 cash as share of his Goodwill
(2) Building s valued at ¥ 35000. '
(3) Thercisan old typewriter valued ¥ 2000 1 does not
books of firm. It is now to be recorded ‘ ’
(4) Patentare valueless. '

Prepare revaluation Account Partners capital A/c and Balance Shegt
new firm. ' o

23, e f. 3 20,000 T ST 100 31 X 120 5t 3591 T ST Frd 1 e

apital after the t'nllnwing

Ppear in the

7 g ¥R T T SR WX 10 Wi 3w, 99 WL 40 W 3w (Rt

ofea) 39 4T T 3ifam o o 6

ST T STferer e = weivt wet o & Wi R 2 e ¥ fae e
ﬁm%lﬂfﬂ.ﬁ R TE feran < ¥ < T Ui e ¥
33000 S % fer SR W U1 12000 7R % S H 2000 3w
areifed 56913000 i3 3 el i g iy witerd 1 A9 AR
Ut sz fora T | W < ol gen wiafiat it | |
R Ltd issued 20,000 equity share of ¥ 100 each at ¥ 120 per share.
Amount is payable: on application ¥ 10 per share, on allotment 40 per
share (including premium) remaining with first and final call.
Over payment on application were to be applied towards sum due on
allotment and call. Where no allotment Was made many was to be
refunded 1n full.
Application for 33000 shares were received application for 12000 shares
were allotted only 2000 shares and applicants for 3000 share was
refunded their amount in full. Full ailotment is made to remaining
applicants. All the money due was received in full with tin time,
Make all the Journal entries to record above transactions.
EELERT]

(Section-B)

UG- & & YT E, T W A Wi 9o 3, aierrell T et e AT

@ I UV & 5T S E

Section B has two portions. Every portion has a set of seven relations
candidate can attempt any set of seven questions of nay one portion.

24, g SR 9d F g3 fatanl | L
Write formula for calculating trend Ratio.

warqaﬁraa% 150,000 % 1 e ST 3:1 2 A <eq, wenfe
gl
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It current liabilities 2 1,50,000 and current ratio 3:1 then calculate
CﬁrrentAssclb
/ ﬁ@ T WEY SR 2
Make proforma of comman size Balance Sheet.

W@maﬁmwﬁqﬁm%aﬁ 2012-13 T SR HHA g0
¥ 2016-17 7 g et 5 7 g W 9 0 | 2
Following are the information with regards to revenue from operation

. Taking bags 2012-13 up to 2016-17 calculate trend percentage for
Measuring the changes,

iiﬁ?f_“___ 2012-13 | 2013-14 | 2014-15 [ 2015-16 | 2016-17

Wi § am _

(Revenue form| 20 | 22 25 | 28 30

[Operations) | | '
/ﬁ”' HETRA R TR g . 4

Calculate from the following informations: |

(1) I 3T (Current Ratlo) ' B\

(i) et sr (Liquid Ratio)

(ii) wha W I (Gross profit Rallo)
(iv) ‘Tﬁ?ﬂm AT (Operating Ratio)
T3 T 80,000, 3 T ™t = - % 48,000; SE ©IF-Z 16,000;
T =% 12,000; THR-T 14,000; FTR-Z 16,000; Eed =a-%
2,000; e R T 18,000,

Sales- 80,000; Cost of goods sold-Z 48,000; Closing stock-Z 16,000;
- Operating exp-% 12,000; Debtors-Z 14,000; Creditors-Z 16, 000; Prcpald
exp-< 2,000; Short term investment-Y 18,000.

Vﬁwﬁ?ﬁfﬂﬂ@ﬁaﬁm! 4

Explain various sources of ethics.

/ Tawifera gEell @ A1 SITU W ST H-TH aFfl'lE[ @
ST TS WA & ST T F— 6
From the following information calculate current ratio, quick ratio,

~ debt-equity ratio. Proprictary ratio and solvency ratio.. -

e, fa-T 1,00,000; G572 5,00,000; TR W% 1,00,000; M-
w1 @ shiez F-2 1,00,000; 10 Ffw F7 T-X 3,00,000; R-
1] gefti-2 7,00,000; -3 2,00,000; S G- 1,50,000;

TR 4 TR qe4-2 50,000,

IS
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